\ Identify each of the following in the graph given:

Graphing Lines
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Y-Intercept:
X-Intercept: 5
Type of Variation:
S
Slope:
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Equation: N
Graphing by Table of Values
2_ Graph each of the following lines using a table of values.
1
a) y=3x—4 b) y=—5><+1
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Graphing by Slope & Y-Intercept

! g Graph each of the following lines using the slope and y-intercept.
2 5
a =—x+4 b =——X+7
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c) y=2x-5 d) y=-x+6
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Graphing by X-Intercept & Y-Intercept

\,| Graph the following lines using the x-intercept and y-intercept.

a) 2X + 6y =18
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Graphing Equations of Lines

, Complete the table of values:
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y x-intercept:
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6 Slope:
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Method #1: Table of Values

} y=3x-4

% y=—%x+6
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Method #2: Using Intercepts

6‘ y=4x-38

A

\ 4

A

v


mrsk
Pencil


MPM 1D1

Method #3: Slope/Y-intercept

|| y=5x-3
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Graphing Lines

Identify each of the following in the graph given: ! e T
Y-Intercept: Z ~ f ‘ '
X-Intercept: "; ) | ; ‘
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Equation y= 2+ 72X oL
Graphing by Table of Values
- -1
) Graph each of the following lines using a table of values. Ve 1
1
a) y=3x-4 b) y=——2—x+1
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Graphing by Slope & Y-Intercept
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2} Graph each of the following lines using the slope and y-intercept.
2 TR _ 2 ay 5
a)  y=Ix+4 i‘o,'—H M=3 .0 b y=—x+7
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Graphing by X-Intercept & Y-Intercept

Graph the following lines using the x-intercept and y-intercept. — -~ —— - yop—r— v

L\ a)  2x+6y=18
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Graphs of Lmear Relations
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Complete the table of values:

O
Indicate:
N
The v-intercept: | O 3 ‘

The Slope: (N=

Complete the table of values:
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The x-ntercept: a

The y-mtercept: ‘ th t
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Method #1: Table of Values
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Method #2: x- and v-intercepts method
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Method #3: Slope / v-intercept method
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